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ZEREH| 314 94 400 138 54 34
H30FE | 618 E%| 53 18 36 12 9 4

ZEREE| 595 5.2% | 11.14% | 115(% | 6.0fZ 8.5f%

SERES| 258 76 273 94 33 37
RITEE | &H8EH| 46 15 32 10 5 2

ZERfER| 56 5.14% 8.5(% 9.4f% 8.3f% | 185f%

ZERER| 223 59 284 98 32 34
R2ERE |&1&EH,| 52 15 47 12 7 5

ZEREE| 4415 3.9f% 6.0 8.21% 4.6f% 8.5f%

ZEREH| 244 52 309 120 30 46
RIGEE | &H&ES| 46 15 38 16 6 6

ZERfEE| 5715 2.9f% 8.41% 8.0f% 5.01% 7.74%

SERER| 185 51 163 58 30 43
RAEE | GBS 36 11 48 16 6 5

ZEREE| 5415 5.14% 3.4fE 3.61% 5.01% 8.61%
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